

مسئله ۱

۱) $x=0 \rightarrow y = -\frac{1}{r}$
 $y=0 \rightarrow x = \frac{1}{r}$
 $f^{-1} \rightarrow x=0 \rightarrow y = \frac{1}{r}$
 $y=0 \rightarrow x = -\frac{1}{r}$
 $f = \frac{1}{r} \times \frac{1}{r} \times \frac{1}{r} = \frac{1}{r^3} \rightarrow f f^{-1} = f f^{-1}$
 از جواب در تابع f و f^{-1} در f قرار دهیم.

۲)

الف) $x^2 - r x + 1 + r \rightarrow (x-r)^2 + r - b = 0 \rightarrow (1+r) \rightarrow$ $\rightarrow y = (n-1)^2 + r \rightarrow y - r = (n-1)^2$
 $\Rightarrow y = \pm \sqrt{y-r} + 1 \Rightarrow y = \sqrt{y-r} + 1 \Rightarrow R f^{-1} = R f \Rightarrow n-r \geq -1 \Rightarrow n \geq r-1$
 $\rightarrow [r-1, +\infty)$
 $\rightarrow [r, +\infty)$

۳) $g(x) = r x - \sqrt{1 - 4x + r x^2} = r x - \sqrt{r(x-\frac{1}{r})^2 - \frac{1}{r}} = r x - \sqrt{r(x-\frac{1}{r})^2 - \frac{1}{r}}$

$|x| > r \Rightarrow r x - r(x-r) \rightarrow r x - r x + r = r$
 $|x| < r \Rightarrow r x + r x - \frac{1}{r} \Rightarrow 2r x - \frac{1}{r} \Rightarrow x = \frac{1}{2r}$
 $\Rightarrow (-\infty, 1] \Rightarrow y = r x - \frac{1}{r} \Rightarrow y + \frac{1}{r} = r x \Rightarrow \frac{y}{r} + \frac{1}{r} = x \Rightarrow$
 $R f \rightarrow R g = [-\infty, r]$

۴) $y = \frac{x}{\sqrt{x^2 - a}} \Rightarrow y_1 = y_2 \Rightarrow \frac{n_1}{\sqrt{n_1^2 - a}} = \frac{n_2}{\sqrt{n_2^2 - a}} \Rightarrow n_1^2 (n_2^2 - a) = n_2^2 (n_1^2 - a) \Rightarrow n_1^2 n_2^2 - a n_1^2 = n_2^2 n_1^2 - a n_2^2$
 $n_1^2 = n_2^2 \rightarrow n_1 = \pm n_2$
 $\Rightarrow y = \frac{n}{\sqrt{n^2 - a}}$
 $y \sqrt{n^2 - a} = n \Rightarrow y^2 (n^2 - a) = n^2 \Rightarrow y^2 n^2 - a y^2 = n^2 \Rightarrow a y^2 = y^2 n^2 - n^2 \Rightarrow n^2 (y^2 - 1) = a y^2 \Rightarrow n^2 = \frac{a y^2}{y^2 - 1} \Rightarrow n = \pm \sqrt{\frac{a y^2}{y^2 - 1}}$
 $n = \sqrt{\frac{a y^2}{y^2 - 1}} \rightarrow y = \sqrt{\frac{a n^2}{n^2 - 1}}$

۵) $\frac{1}{r} + \frac{1}{r} + \frac{1}{r} \geq \frac{1}{r} + \frac{1}{r} + \frac{1}{r} \Rightarrow \frac{1}{r} \geq \frac{1}{r} + \frac{1}{r} + \frac{1}{r} \Rightarrow \frac{1}{r} \geq \frac{3}{r} \Rightarrow -\frac{2}{r} \geq 0 \Rightarrow r \leq 0$
 $\Rightarrow r \leq 0$

۶)

$n > 0 \rightarrow n + n = r n \rightarrow y = r n \rightarrow n = \frac{1}{r} y \rightarrow y = \frac{n}{\frac{1}{r}} = r n$
 $n < 0 \rightarrow r n \rightarrow y = \frac{n}{r}$
 $a + b = \frac{1}{r} \Rightarrow r a = \frac{1}{r} \Rightarrow a = \frac{1}{r^2}$
 $a - b = \frac{1}{r} \Rightarrow \frac{1}{r^2} - b = \frac{1}{r} \Rightarrow b = \frac{1}{r^2} - \frac{1}{r} = -\frac{1}{r}$
 $\Rightarrow \frac{1}{r} \times -\frac{1}{r} = -\frac{1}{r^2}$

$$\boxed{\frac{u/2}{u-u/2}} = \frac{u/2}{u/2} \Rightarrow 1 \Rightarrow 0$$

2

$$\Rightarrow \frac{r - f^{-1}(t)}{r} = rg^{-1}(r+t) \Rightarrow t = -r \Rightarrow r - f^{-1}(-r) = rg^{-1}(r) \Rightarrow \textcircled{r}$$

10)

$$y = n + \varepsilon[n] \Rightarrow z^{-1} = g(n) \Rightarrow z^{-1}g \rightarrow z^{-1}z^{-1}(n)$$
$$\boxed{[y]} = [n + \varepsilon[n]] \Rightarrow w[n] = [y] \Rightarrow y = n + \varepsilon[n] \Rightarrow [n] = \frac{[y]}{\omega} \Rightarrow \underline{y = n + \varepsilon\left[\frac{[y]}{\omega}\right]}$$
$$\frac{y - \varepsilon[y]}{\omega} = n \xrightarrow{z^{-1}} y = \frac{n - \varepsilon[n]}{\omega} \Rightarrow z^{-1}g \Rightarrow n + \varepsilon[n] - \frac{[n]\varepsilon - n\varepsilon}{\omega} \Rightarrow \varepsilon[n] + \frac{[n]\varepsilon}{\omega} \Rightarrow \frac{\varepsilon}{\omega}[n] =$$
$$\boxed{\frac{\varepsilon}{\omega}[n]}$$